Mass, Weight and Gravitational Field Strength

1. Complete the sentences below;

a. The mass of an object measures the quantity of  …………………………………… that it contains. The units of mass are ………….. .
b. The weight of an object measures the downward ……………………… due to ………………………… . An objects weight would be zero if…………………………. …………………………………………………………. .
c. The gravitational field strength of a planet tells us the …………………………. due to ………………….. on each ………………………… of mass. On Earth the gravitational field strength is ………….. .
2. An astronaut is preparing for a long mission in which he will visit the Moon, Mars, Jupiter and deep space. Before he leaves Earth his mass is measured as 75 kg. Complete the table below to show his mass and weight at each place he visits.

	Destination
	Mass (kg)
	Weight (N)

	Earth
	75
	

	Moon
	
	120

	Mars
	75
	

	Jupiter
	
	1980

	Deep space
	
	0


3. In each of the situations below calculate the missing information;

a. [image: image1..pict]




m = 120 kg

W = ?








g = 9 N / kg
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b. m = 120 kg

W = ?

g = 3.8 N / kg

c. 



m = 90 kg

W = ?

g = 10 N / kg


d. m = 87 kg

W = ?

g = 26.4 N / kg

4. For each example above state which planet you think the astronaut is on.

5. The longest golf drive recorded on Earth travelled over 500 metres before hitting the ground. When on the Moon astronaut Alan Shephard hit a shot one handed that travelled over 2000m. Why was his shot able to travel so much further?

